## ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR, NEW DELHI- 29 STORES SECTION (DO)

### Ref. No. 08/SO(DO)/Anesth/PAC/25-26/M&E

Date: 19.07.2025

Sub: Purchase of Cardiac Output Monitoring System -02 nos. for the Department of Anesthesiology, at AIIMS, New Delhi-110029, on proprietary basis inviting comments thereon.

#### \*\*\*\*\*

On specific requirement of Deptt.of Anesthesiology, Store Section (DO) is in the process of procurement of Cardiac Output Monitoring System-02 nos. from M/s. (Mfg. M/s. Edwards lifesciences (India) Pvt. Ltd.) through its authorized dealer M/s. Arian Health Care

). The principal M/s Edwards lifesciences (India) Pvt. Ltd has submitted following documents:

- 1. PAC format duly signed by Departmental TSEC (page No.1)
- 2. Technical Specification duly signed by Departmental TSEC (page No.2-3)
- 3. Performa Invoice from principle/authorized distributor M/s Edwards lifesciences (India) Pvt. Ltd, (p.no.4-8)
- 4. Warranty: 2 years (p.no.3)
- 5. CAMC Charges: 8 years (page 6)
- 6. Principle Proprietary Certificate (copy enclosed at p.no. 9)
- 7. GeMARPTS (page: 10-11)
- 8. Authorization to M/s. Arian Health Care. (Page: 12)
- 9. Non Black Listing Certificate (page no. 13-14)
- 10. Land boarder sharing certificate (page: 15)

Now, in view of the above, the said proposal is uploaded on AIIMS website for period of 15 days with the view to invite objections w.r.t. proprietary nature of the product from the OEC's or their authorized distributors. The comments/objections if any should be received in office of Sr.Store Officer, Store Section (DO),  $1^{st}$  Floor, Animal House Building, Near Biotechnology Building at AIIMS on or before 05.08.2025 upto 12:30 P.M. failing which it will be presumed that any other vendor is having no comment to offer and case will be decided on merits.

19/7/25 Sr. STORES OFFICER (D.O)

# ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR, NEW DELHI – 110029.

### PROPRIETARY/SPECIFIC BRAND GOODS CERTIFICATE

1.	Item/Type/Model No. Required Along with specification	Cardiac Output Monitoring System
2.	If the item a spare part attachment or Accessory for	No
	existing equipment	
3.	Name of the manufactures/suppliers of the item	M/s Edwards Lifesciences LLC through
	proposed by the indenter.	their distributor M/s Arian Healthcare
4.	Are the sole manufactures/sole distributors of the item?	Proprietary certificate and
		authorization submitted by M/ s
		Edwards Lifesciences LLC
5.	It there any other item with similar/equipment	No
	specification available in the market to meet the job	
	requirement envisaged. If he answer is yes, why the same	
	can't procured	
6.	What were the efforts made to locate alternative source	The required items are proprietary and
	of supply or use other substitutes.	as certified by the manufacturer with
		certificate is attached
7.	Why open/limited tender can't be resorted to, for	Proprietary item
	locating alternative source.	
8.	Are the proprietary items certifying that the rates are	Yes
	reasonable or not.	
9.	Any other justification for procuring item from single	To ensure better patient care service.
	source.	Advanced technologies

'We have assessed the market and we do hereby certify that Cardiac Output Monitoring System is a proprietary item of the manufacturer M/s Edwards Lifesciences LLC, USA and cannot be substituted with a similar item from other vendors for its intended use'.



#### Technical Specifications for Cardiac Output Monitoring System

- It should have a touch screen with an active area of 12.1 inches.
- It should be able to provide Continuous Cardiac Output through a dedicated arterial sensor only when connected with a dedicated cable available separately.
- It should be able to give Continuous Cardiac Output, Stroke Volume (SV), Stroke Volume Index (SVI), Stroke Volume Variation, and Systemic Vascular Resistance (SVR) and Systemic Vascular Resistance Index (SVRI) when used with appropriate arterial line sensor.
- It should have the option of giving Intermittent & Continuous Cardiac Output (ICO & CCO), Continuous Right Ventricular Ejection Fraction (RVEF), Continuous Right Ventricular End Diastolic Value (RVEDV, RVEDVI), Systemic Vascular Resistance (SVR, SVRI) & Pulmonary Vascular Resistance(PVR) when used with appropriate Swan Ganz Catheter or dedicated oximetry catheter. (OPTIONAL)
- It should have the option of providing intravascular oximetry parameter for pediatric population i.e Central Venous Oximetry updated every 2 secs when used with dedicated disposable central venous catheter.
- It should have the option to be scalable to Non-invasive Cardiac Output technology in the future.
- It should have display capacity of at least 4 trend lines and 4 numerical display, optional
  physiology and physio-relationship screen.
- It should have the option of providing dedicated per operative goal-directed therapy (PGDT) screens and analytics.
- It should be equipped to provide patient insight for hypotension & fluid challenge response.
- It should be equipped with a secondary screen to provide clinicians with insights into potential factors for high hypotension probability.
- The monitor must display additional parameter of dP/dt and Eadyn when using a dedicated disposable A-line sensor.
- It should work on NIRS (Near-infrared Reflectance Spectroscopy) technology.
- It should be able to provide tissue oxygen saturation (StO2), non-invasively when used with Hemo Sphere advanced monitor.
- It should be able to measure oxygen saturation of the cerebral tissue along with other tissues such as abdomen, hip, arms, and feet when used at appropriate tissue site.
- It should have 1 light emitter and 2 light detectors and, 2.5 cm depth of light penetration and use 5 Near-Infrared wavelengths for better accuracy of StO2 measurement.
- It should be available in 4 sizes namely: Small, Medium, Large (Adult) and one special Non
  adhesive variant for neonates.
- It should have option of wired communication.
- It should have display capacity of at least 4 trend lines and 4 numerical display, optional
  physiology and physio-relationship screen.

File No. F.No.9/Anaesth/M&E/2024-25 (Computer No. 3280107) Generated from eOffice by MANJULA, MS.MANJULA , DATA ENTRY OPERATOR, AllMS on 15/07/2025 11:48 AM



- It should have the option of providing dedicated per operative goal-directed therapy (PGDT) screens and analytics.
- It should have the option of connectivity with hospital information system.
- It must save data for at least 72 hours.
- Must have screen shot and data download facility through any USB stick.
- · It should have an HDMI, USB & ETHERENET port for various connectivity.
- The comprehensive warranty will be 2 years (including all spares and labour) from the date of satisfactory installation of the equipment.
- Rates for Comprehensive Annual Maintenance Contract (including all spares and labour for 3<sup>th</sup> to 10<sup>th</sup> year, after expiry of warranty period must also be quoted. Cost of spares, accessories and consumables should assure the supply of new consumables, if required.

ujata Chaudhary

Deptt. Of Anaesthesiology, Safdarjung Hospital (Ext. Expert)

Prof. Akhilesh Gupta Deptt. Of Anaesth), RML Hospital (Ext. Expert)

L'iL Prof. Nitin Hayran Deptt. of (Anaesth), Lady Harding Medical College (DGHS Nominee)

Prof. V Daflong, Deptt. Of Anaesth.

Member

Dr. Rahul Depu. Of Anaesthesiology. Special Invitee

Dr. Puneet Khanna Deptt. Of Anaesth. Member.

Dr. Bikasl Ranjan Ray Deptt. Of Anaesthesiology. Member-Secretary

Representative of Med. Supdt.

Hosp. Admn. Member

Dr. Vimi Rewari Prof. Deptt, Of Anaesth Chairperson

File No. F.No.9/Anaesth/M&E/2024+25 (Computer No. 3280107) Generated from eOlfice by MANJULA, MS.MANJULA , DATA ENTRY OPERATOR, AlIMS on 15/07/2025 11:48 AM



# Arian Healthcare

4327/3, Flat No. 202, IInd Floor, Ansari Road, Darya Ganj, New Delhi-110002 Tel. : 011-23250080, 011-49403689, Mobile : 9811140954 E-mail : arianhealthcare@rediffmail.com; arianhealthcare@gmail.com

Ref.: AHC/BPS-AIIMS/2024-25

Dt.10.03.2025

The Prof & Head, Deptt. Of Anacsthesiology & Critical Care, A.I.I.M.S., Ansari Nagar, New Delhi-110029.

#### Sub.: Quotation ForCardiac Output Monitoring System

Sir,

With reference to your above mentioned requirement, we are pleased to quote you our most competitive rates for the purchase of following productson 2 years warranty basis:-

Codes	Product Description	Qty.	Quoted Rates In Rs. For 1 Set	Quoted Rates For Required Qty. In Rs.	GST	Rates For 2 Sets Inclusive GST In Rs.	
HEM1	HemoSphere Advanced Monitor	2	22,50,000.00	45,00,000.00	12%	50,40,000.00	
HEMOX SC100	HemoSphereOxi metry cable	2	2,85,000.00	5,70,000.00	18%	6,72,600.00	
IIEMOX CR1000	HEMOXCR1000	1			18%		
HEMPS C100 1	HemoSphere Pressure Cable 1	2	4,33,215.00	8,66,430.00	18%	10,22,387.40	
HEMPS C100_2	HemoSphere Pressure Cable 2 (WOS)	2	4,33,215.00	8,66,430.00	18%	10,22,387.40	
HEMDP T1000	Pressure Out Cable	2	13,000.00	26,000.00	18%	30,680.00	
HP001	HPI	2	2,73,000.00	5,46,000.00	18%	6,44,280.00	
HEMFS M10	ForeSight Module	2	6,18,000.00	12,36,000.00	12%	13,84,320.00	
HEMTO M10	Tissue Oximetry Module	2	1,37,000.00	2,74,000.00	12%	3,06,880.00	
HEMBA T10	Battery Pack	2	55,000.00	1,10,000.00	18%	1,29,800.00	
	Stand For Monitor	2	30,000.00	60,000.00	18%	70,800.00	
	•	l'otal	45,27,430.00	90,54,860.00		1,03,24,134.80	
	Total Rounde	d Off	and a second sec			1,03,24,135.00	

Lower for the day the day with the day of th

File No. F.No.9/Anaesth/M&E/2024-25 (Computer No. 3280107)

Generated from eOffice by MANJULA, MS.MANJULA , DATA ENTRY OPERATOR, AIIMS on 15/07/2025 11:48 AM



Arian Healthcare

4327/3, Flat No. 202, IInd Floor. Ansari Road; Darya Ganj, New Delhi-110002 Tel.: 011-23250080, 011-49403689; Mobile : 9811140954 E-mail: anaphealthcare@rediffmail.com: anaphealthcare@gmail.com

Quotation For The Consumables Required To Be Supplied With The Equipment:-

Product Code	Product Description	Hospital Rate	Qty	Quoted Rates For Required Oty	GST	Total Rates Inclusive GST
MHD8	FloTrac sensor	16500.00	20	3,30,000.00	12%	3,69,000.00
AIQS85	Acumen sensor	26335.00	20	5,26,700.00	12%	5,89,904.00
FSESS	Foresight sensor Small	14283.00	20	285660.00	12%	3,19,939.20
FSESM	Foresight sensor medium	14283.00	20	285660.00	12%	3,19,939.20
FSESL	Foresight sensor Large	14283.00	20	285660.00	12%	3,19,939.20
PXVP226 0	Vamp	3235.00	100	3,23,500.00	12%	3,62,320.00
PX600F	DPT	900.00	100	90,000.00	12%	1,00,800.00
	Total			21,27,180.00		23,81,841.60
	Total Rounded Off			Rs.21,27,180.00		Rs.23,81,841.00

	cluding Equipment and sables	
Cost Of Equipment	Cost Without GST Rs.90,54,860.00	Total Cost With GST Rs.1,03,24,135.00
Cost Of Consumables	Rs.21,27,180.00	Rs.23,81,841.00
Total Tender Value	Rs.1,11,82,040.00	Rs.1,27,05976.00

(Rupees One Crore Twenty Seven Lacs Five Thousand Nine Hundred Seventy SixOnly)

Terms & Conditions :-

1). The abopve quoted prices are FOR.

2). Above quoted prices are inclusive of GST mentioned against each item. In case of any statutory change in the govt, policy we will request you for the amendment accordingly.

3). Payment as per your terms & conditions.

4). Within 45-60 days from the date of receipt of your confirmed order.

5). The above prices are inclusive of warranty of 2 years from the date of installation.

CAMC Charges for the 8 years, After completion of warranty period, are as follows:-



File No. F.No.9/Anaesth/M&E/2024-25 (Computer No. 3280107)

Generated from eOffice by MANJULA, MS.MANJULA , DATA ENTRY OPERATOR, AIIMS on 15/07/2025 11:48 AM



Arian Healthcare

4327/3, Flat No. 202, Ilnd Floor, Ansarl Road, Darya Ganj, New Delhi-110002 Tel. : 011-23250080, 011-49403689, Mobile : 9811140954 E-mall arianhealthcare@rediffmail.com; arianhealthcare@gmail.com

	1 <sup>st</sup> Year	2 <sup>nd</sup> Year	3 <sup>rd</sup> Year	4 <sup>th</sup> Year	5 <sup>th</sup> Year	6 <sup>th</sup> Year	7 <sup>th</sup> Year	8 <sup>th</sup> Year
CAMC Charge s	226371. 00	226371. 00	226371. 00	226371. 00	226371. 00	226371. 00	226371, 00	226371. 00
GST %	18%	18%	18%	18%	18%	18%	18%	18%
Total With GST	267118 00	267118. .00	267118 00	267118 00	267118 00	267118 00	267118 00	267118 00

	s Of Each Monitor For 8 cars	Total CAMC Charges For 2 Monitors
Without GST	With 18% GST	
Rs.18,10,968.00	Rs.21,36,944.00	Rs.21,36,944.00x2=Rs.42,73,888.00

> The above prices are inclusive of GST @ 18% but in case of any statutory change in the govt. policy we will request you for the amendment accordingly.

Components	Product Description	HSN	Qty.	Pack	Rate	GST	Prices In
-	-	Code		Size	In Rs.		Rs.
							Including
					anaman di nantimenantanana		GST
MHD8	Flotrac Sensor	90189011	1	1	16500	12%	Rs.18480.00
PXVP2260	VAMP Single Line	90183920	1	10	3235	12%	Rs.3623.00
AIQS85	Acumen IQ Sensor	90189011	1	5	26335	12%	Rs.29495.00
PX600F	DPT Dome	90183920	1	20	900	12%	Rs.1008.00
PX260	DPT Dome	90183920	1	20	1200	12%	Rs.1344.00
XT248SP	Pediaset	90183920	1	1	23765	12%	Rs.26617.00
FSESL	Foresight Large	90183920	1	20	8033	12%	Rs.8997.00
FSESM	Foresight Medium	90189019	1	20	14283	12%	Rs.15997.00
FSESS	Foresight Small	90189019	1	20	14283	12%	Rs.15997.00
FSESNS	Foresight Neonate	90189019	1	20	15174	12%	Rs.16995.00
831(75p	Swan-	90183920	1	5	6325	12%	Rs.7084.00
•	GanzThermodilution						
PXVP1072	Pressure Monitoring	90183920	1	10	4313	12%	Rs.4831.00
	Kit						

The Rates of Consumables To Be Freezed For The Next 5 Years, are as follows:-

#### Terms & Conditions :-

1). The above quoted prices are FOR.

win NA S-



Ariam Healthcare 4327/3, Flat No. 202, Ilnd Floor. Ansari Road; Darya Ganj, New Delhi-110002

Tel.: 011-23250080, 011-49403689, Mobile: 9811140954 E-mail: arianhealthcare@rediffmail.com; arianhealthcare@gmail.com

2). Above quoted prices are inclusive of GST mentioned against each item. In case of any statutory change in the govt. policy we will request you for the amendment accordingly.

3). Payment as per your terms & conditions.

4). Delivery : Within 45 days from the date of receipt of your confirmed order.

We hope that you will find our offer most competitive and give us an opportunity to serve you. Should you require anything else then pl do let us know.

We assure you our best services & co-operation.

Thanking you,

Yours Faithfully, For **Arian Healthcare** 

5 \_\_\_\_\_

(RAJEEV VERMA)







,1

Cost of Cardiac Output Monitoring System for 02nos Rs 1, 03, 24,135 /-

CAMC charges for 02 Nos. Rs 42, 73,888/-

5.No	Components	Product Description	HSN Code	Qty	Rate in Rs	GST%	Price in Rs Including GST	Qty Required for 10 years	Amount
1.	MHD8	Flotrac Sensor	90189011	1	16,500	12%	18,480	1000	Rs 1,84,80,000
2.	PXVP2260	VAMP Single line	90183920	1	3,235	12%	3,623	500	Rs 18,11,500
3.	AIQS85	Acumen IQ Sensor	90189011	1	26,335	12%	29,495	260	Rs 76,68,700
4.	PX600F	DPT Dome	90183920	1	900	12%	1,008	1000	Rs 10,08,000
5.	XT248SP	Pediaset	90183920	1	23,765	12%	26,617	NA	
6.	FSESL	Foresight large	90183920	1	8,033	12%	8,997	150	Rs 13,49,550
7.	FSESM	Foresight medium	90189019	1	14,283	12%	15,997	100	Rs 15,99,700
8.	FSESS	Foresight small	90189019	1	14,283	12%	15,997	10	Rs 1,59,970
9.	FSESNS	Foresight neonate	90189019	1	15,174	12%	16,995	NA	-
10.	831175p	Swan-Ganz Thermodilution	90183920	1	6,325	12%	7,084	20	Rs 1,41,680
11.	PXVP1072	Pressure monitoring set	90183920	1	4,313	12%	4,831	500	Rs 24,15,500
			Total cost for	10 yea	ars				Rs 3,46,34,600

# RATES OF CONSUMABLES FOR CARDIAC OUTPUT MONITORING SYSTEM

Total lifecycle cost for 10 years is Rs 4, 92, 32,623/- for 02 Nos

, Algore they are

File No. F.No.9/Anaesth/M&E/2024-25 (Computer No. 3280107) Generated from eOffice by MANJULA, MS.MANJULA , DATA ENTRY OPERATOR, AIIMS on 15/07/2025 11:48 AM

Ś

14 March 2024



#### **Proprietary Article Certificate**

To whom it may concern:

We hereby certify that Edwards Lifesciences LLC located at One Edwards Way, Irvine, CA 92614 USA is the sole legal manufacturer of the following device, Moreover, the expected clinical benefit as a package stands true & exclusive from the manufacturer.

Product Information	Technologies/Model no's approved in India
HemoSphere Advanced Monitoring Platform	HEM1, HEMSGM10, HEMOXSC100, HEMPSC100,
	HEMTOM10, HEMFSM10, HEMCSM10

#### **Clinical Benefit:**

The HemoSphere advanced monitoring platform allows you to see and interact with patient hemodynamic Parameters (Invasive, minimally invasive & non-invasive) \*1. In conjunction with the compatible sensors and predictive decision support software"2, the Modular"3 HemoSphere platform facilitates proactive clinical decision-making and insight for individualized patient care\*4.

- uous CD & CL, HCL, RVEF, EDV, SV, SVR, SVR, SVR, SVR, SVV, CVP, dIV/dt, ED:tyn, MAP, MPAP, PPV, FR, SYSatr/SYSpap, SciCl2, SvOJ, Vo2, Vo2l, VO2l, StO2, D/Aart
- Continuous to a Sector Anna Sector and Anna Sector Anna Sector Advanced Manitor with Oxenetry cable, HemoSohere Advanced Manitor with pressure cable, HemoSohere Advanced Manitor with HemoSphere Thswe Othreity Mudder and ToreSight (Liter Tistee Oximeter Madule, HemoSphere Advanced Manitor with HemoSohare HemoSohere Advanced Manitor with HemoSphere Tissue Othreity Mudder and ToreSight (Liter Tistee Oximeter Madule, HemoSphere Advanced Manitor with HemoSohare 2. GearSynt Module
- ÷, ed Therapy

All the above statements are considered as reasonably comprehensive at the time based on using various sources of information to ensure the completeness of the information.

Sincerely,

Kevin	By sette uppert by team Len Art canadiants				
Lam	arafefede Lonjestowedi ban Dae Jijidhih 1747 in 4470	1.5.	Ť.		
Name: Kevin	Lam	later		STAT HICK	Ta
Designation:	Regulatory Affairs Direct			Eleth	Ner O.
Edwards Lifes	sciences LLC		3m	NY CON	1 million
PROPI	RIETARY DATA: This document disclosed withou	t written permission from E	ned herein may not dwards Lifescience Under Market	t be reproducéd u ps.t.(C.	Ag AZ

File No. F.No.9/Anaesth/M&E/2024-25 (Computer No. 3280107) Generated from eOffice by MANJULA, MS.MANJULA , DATA ENTRY OPERATOR, AIIMS on 15/07/2025 11:48 AM





Report ID: GEM/GARPTS/24042025/ZJILCGV9PUA9 Report Name: Cardiac Output Monitoring System Generated By: Manoj Kumar , Department of Health and Family Welfare , Ministry of Health and Family Welfare

Generated On: 24/04/2025 Valid till: 24/05/2025

#### GeM Availability Report and Past Transaction Summary

GeM Availability Report and past transaction summary report is generated based on the specifications searched by the Buyer. The specification may be modified appropriately for searching relevant categories on GeM. Buyer may navigate to GeM category page by clicking on the category link to view category specifications and products/services available in the category.

Order Count and Order Value displayed is on a cumulative basis since GeM inception.

1. Search String: Cardiac Output Monitoring System

Search type: Product

- There are categories available on GeM matching your requirements (as listed here). You can create a bid on GeM
  with a product closest matching your required specifications and add additional parameters in specifications
  through Corrigendum using RMS functionality.
- 2. If you feel that category TP needs updating you can submit category updating request also through RMS.
- 3 If you do not want to use any of the above option and want to proceed for procurement outside GeM, please suggest the specifications of the required product for creation of new category on GeM for future procurement.

Search Result: Category available/suggested on GeM but marked as "not matching requirements" by the buyer with undertaking as under:

It is certified that i have thoroughly checked all probable categories suggested by GeM and I am satisfied that the product required is not covered / does not fall in any of the suggested categories and can not be procured under any of these categories even after inclusion of List of Values( LOV) wherever possible in category specifications of suggested categories. It is also certified that the technical specification requirement are such that these can not be covered even by adding specification parameters using ATC in any of the GeM suggested categories. This is a one-time requirement hence new category creation is not proposed / or requirement is recurring but request for new category creation will be submitted separately post generation of GeMARPTS.

		Orde	er Count		Order Va	alue (in La	ikhs)	
Category Name	Catalog Count	Direct Purchase	Reverse Auction	Bid	Direct Purchase	Reverse Auction	Bid	
Continuous Cardiac Output Monitor	0	0	0	0	0	0	0	
Cardiac Monitor with defibrillator	2.699	959	105	338	3,308	3,346	9,328	
 Sensors for Continuous cardiac output monitor	0	0	0	0	0	0	0	
electronic physiogrowth monitoring system	4	1	0	9	0	0	55	
Live Remote Temperature and Humidity Monitoring and Alert System	361	1,282	9	88	406	12	122	
intracompartmental pressure monitoring set accessories (Pressure Monitoring Line)	1.488	1.673	40	51	1,437		51	
	Jul -	alter chard	2,~		en an	n Deg	-	1

ř

		Order Count			Order Value (in Lakhs)			
Category Name	Catalog Count	Direct Purchase	Reverse Auction	Bid	Direct Purchase	Reverse Auction	Bid	
Continuous Ambient Particulate Monitoring System	19	3	1	1	13	7	6	
Multipara Monitor - Low End	31,349	2,940	135	494	6,843	2,285	10,834	
Accounts and Bill Monitoring Management System Software	35	248	0	11	77	0	98	
Cardiac TMT Machine (V2)	68	28	3	12	162	48	176	

89

Vor Porte and in the chander

un

Caher

6



March 12, 2025

To,

The Professor and HOD Department of Anaesthesia AIIMS Ansari Nagar New Delhi.

Dear Sir,

Sub: Letter of Authority to M/s Arian Health Care for supply Edwards CC and Vascular range of products.

This is with reference to the captioned subject. Please note that M/s Arian Health Care, 4327/3, Flat No 202, IInd Floor, Ansari Road, Darya Ganj, New Delhi 110002 is the authorized distributor of Edwards Lifesciences (India) Private Limited having its registered office at 4th Floor, Commerz II, International Business Park, Oberoi Garden City, Off. Western Express Highway, Goregaon (East), Mumbai 400 063.

M/s Arian Health Care is duly authorized to submit documents, receive purchase orders, making supplies etc. for the Edwards Critical Care range of products & Vascular range of products on our behalf to your esteemed institute.

Further, please note that no other distributor is authorized to supplies etc. to your hospital on our behalf other than M/s Arian Health Care.

Neither party shall have the right to assign this Agreement or any of the rights or obligations hereunder without the prior written consent of the other party. Notwithstanding the foregoing, Edwards may assign this Agreement, in whole or in part, without Distributor's or Hospital's consent (a) to an Affiliate of Edwards or (b) in connection with a corporate reorganization, corporate consolidation, merger, acquisition, sale or spin-off involving Edwards Lifesciences Corporation's Critical Care business.

This authorisation letter valid from date of hereof until 31<sup>st</sup> December 2025 with a provision to extend the same further.

Please take note of the same.

Sincerely, For Edwards Lifesciences (India) Private Limited

Anil Kataria Digitally signed by Anil Kataria Date: 2025.03.13 15:00:01 +05'30'

Anil Kataria Director Sales & Marketing Critical Care and Vascular care India & SNB

Cc: Arian Health Care.

1



Edwards Lifesciences (India) Private Limited Regd. Office 4th Floor, Commerz II, International Business Park, Oberol Garden City, Off. Western Expross Highway, Goregaon (Fast) Mumbai 400063 Yel; +91 22 61931301, Fax: +91 22 61931344 Website: www.edwards.com; Email; customercare\_edwardsindla@edwards.com; CIN: U33110MH1996PTC145849 1



set in all the set of the

#### INDIA NON JUDICIAL

# Government of National Capital Territory of Delhi

#### e-Stamp

544	सत्यमेव जयते	Government of National Capital Territory of Delhi	an an un war care a
		e-Stamp	14 A 14
"我们是我们的,你们的,我有多少的。" 化化化化合物 化化合物	Certificate No. Certificate Issued Date Account Reference Unique Doc. Reference Purchased by Description of Document Property Description Consideration Price (Rs.) First Party Second Party Stamp Duty Paid By	<ul> <li>IN-DL76235147157913X</li> <li>29-Apr-2025 02:40 PM</li> <li>IMPACC (IV)/ dl731303/ DELHI/ DL-CTD</li> <li>SUBIN-DLDL73130391984228571533X</li> <li>ARIAN HEALTHCARE</li> <li>Article Undertaking</li> <li>Not Applicable</li> <li>0     (Zero)</li> <li>DIRECTOR AIIMS NEW DELHI</li> <li>ARIAN HEALTHCARE</li> <li>ARIAN HEALTHCARE</li> <li>ARIAN HEALTHCARE</li> <li>10</li> </ul>	بروند بالاروند بروند. الروند بروند بروند بروند بروند بروند المروند والمروند بروند. المروند بروند ب
prominent and a state of the state of	Stamp Duty Amount(Rs.)	(Ten only)	વ, જે આ સંક્રેપ્સ (મંદ્રસ્થા કરે છે. કેમ સંક્રેપ્સ (મંદ્રસ્થા ) મંદ્ર કરે કે કે કેસ્ટા
		Please write or type below tills line	Lin Hole An on a line
		Enclose - Underfaking	પ્ર સંસ્ટાર વાગ્ય કરો છે. વ
	.Fo	Prop.	ALL
		Stans: centeurur swulin te verdied al lower dir (estangi com' la uding o Stang Moose App of Stask Holding mit al c. Din Cientificano dello monistre no the veltura / Mobile App ronders it urvaliti. la legitimate la cyster ades di tre ce triviale ecy place aform the UC nontent Authority.	

#### Ref.: AHC/PS-AIIMS/2025-26

Dt.:21.04.2025

The Prof. & Head, Deptt. Of Anaesthesiology & Critical Care, AIIMS, Ansari Nagar, New Delhi-110029.

#### Sub.: Undertaking For Edwards Cardiac Output Monitoring System

I, Rajeev VermaS/o Sh. S. K. Verma proprietor of M/s. ARIAN HEALTHCARE, 4327/3, Satyam House, Flat No.202, 2nd Floor, Ansari Road, Darya Ganj, New Delhi -110002, do hereby undertake that:

1. The firm has not been black listed in the past by any Hospital/Organization.

2. There is no Vigilance Case/CBI Case pending against the firm.

3. The prices quoted by us against your requirement of Cardiac Output monitoring System are reasonable.

We hereby verify that the contents of the above undertaking are true to the best of my knowledge and belief and nothing has been concealed.

Thanking you,

Yours Faithfully, For **Arian Healthcare** 



€ 1668782/2024/APM&CC-ANAESTHESIOLOGY PAIN MEDICINE



# Arian Healthcare

4327/3, Flat No. 202, Ilnd Floor, Ansari Road, Darya Ganj, New Delhi-110002 Tel. : 011-23250080, 011-49403689, Mobile : 9811140954 E-mail : arianhealthcare@rediffmail.com; arianhealthcare@gmail.com

# UNDERTAKING

# TO WHOM SO EVER IT MAY CONCERN

## Ref.:- Procurement of Flowtrac Monitor by the Deptt. of Anaesthesiology, AIIMS on Proprietary basis

# Sub: Undertaking of Rule 144(xi) under GFR 2017

Certificate to be submitted by the Bidder:

We, M/s. Arian Healthcare having registered office at 4327/3, Flat No. 202, IInd Floor, Ansari Road, Darya Ganj, New Delhi 110002. Who are reputable distributor of Surgical Disposable Items, Equipments and Surgical Consumable products.

We, Arian Healthcare, have read the clause regarding restrictions on procurement from a bidder of a country which shares a land border with India. Arian Healthcare, certify that neither we nor our any products quoted against your above mentioned demand are from such a country. Arian Healthcare, hereby certify that we fulfills all requirements in this regard and is eligible to be considered.

We have quoted this product against the above mentioned tender on behalf of M/s. Edwards Lifesciences, USA, which do not share land border with India.



#### ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR, NEW DELHI – 110029.

PROPRIETARY/SPECIFIC BRAND GOODS CERTIFICATE

1.	Item/Type/Model No. Required Along with specification	Cardiac Output Monitoring System	
2.	If the item a spare part attachment or Accessory for existing equipment	No	
3.	Name of the manufactures/suppliers of the item proposed by the indenter.	M/s Edwards Lifesciences LLC through their distributor M/s Arian Healthcare	
4.	Are the sole manufactures/sole distributors of the item?	Proprietary certificate and authorization submitted by M/ s Edwards Lifesciences LLC	
5.	It there any other item with similar/equipment specification available in the market to meet the job requirement envisaged. If he answer is yes, why the same can't procured	No	
6.	What were the efforts made to locate alternative source of supply or use other substitutes.	The required items are proprietary and as certified by the manufacturer with certificate is attached	
7.	Why open/limited tender can't be resorted to, for locating alternative source.	Proprietary item	
8.	Are the proprietary items certifying that the rates are reasonable or not.	Yes	
9.	Any other justification for procuring item from single source.	To ensure better patient care service. Advanced technologies	

I certified that the item at Sr.No.1 above is required to be procured on PAC basis as the source of supply is definitely known which is meeting with functional requirement of department and limited tender system could be dispensed with as they would serve no useful purpose in the particular case.

Kahing Louder Dun-

File No. F.No.9/Anaesth/M&E/2024-25 (Computer No. 3280107) Generated from eOffice by MANJULA, MS.MANJULA , DATA ENTRY OPERATOR, AIIMS on 15/07/2025 11:46 AM